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BERNRE

BEERBABREMR)FEECT75m (B R)IKIREE

£ b B - BkTiE B = fifl ® & i
EEIEE 2,347, 642
BEXHE 2,347, 642
BEXEHE 2,347, 642
KEgAI= 1,084, 823
Bl =2 fE 771, 548
1 BIE%EE .00 418, 342 418, 342
=
2 HMIERR 2ERRY) .00 353, 206 353, 206
=
KiFRA= (1) 255, 394
I BETRE .00 215,538 215,538
=
4 SERE FEE(-.7.5m) (HE) 3.20 12, 455 39, 856
km
KiFBE (2) 41,101
5 EEBIE REZID Y K 3.30 12, 455 41,101
km
FRA=E 16, 780
6 FRA=E 0.20 43, 500 8, 700
km
1 FRAEEHNERE BEHRERE 2.00 4,040 8,080
cm
EEREE 1,262,819
523 947, 234
8 MEEIER .00 888, 234 888, 234




BERNREK SHEE L SRS HR) R EE(-7 5m)(E B)KIS RIS

s

9 EBEHEM 1.00 59, 000 59, 000
=

i 279,185

10 fc#& 1.00 279,185 279,185
=

EIREE 36, 400

N EIXEREE T4 YUIREER 1.00 36, 400 36, 400

T




WBiER BEERBABREMR)FEECT75m (B R)IKIREE

4 g B - K& B % = L] * % W=
EEAEE 2,347, 642
HRHE 2,347,642 x 77.3% — 2,369 1,812,358
BEEEE 2,347,642 + 1,812,358 4,160, 000
R EHME 4,160, 000
HBEREALE 4,160,000 x 10.00% 416, 000
BEXEHE 4,160,000 + 416, 000 4,576, 000
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THIFEE R BBREMR)FET.5m(BRIKIREE

&5 1
& RIEEER 1%y
£ 7 R - BIRTiE BARL 2 B € W E B &
RIS EFHEm
A 2.00 45, 700. 00 91, 400
Bl EHEm
A 5.00 40, 000. 00 200, 000
B EHEnE
A 4.00 30, 700. 00 122, 800
MAH 2{KDY%
% 1.00 414, 200. 00 4,142
= g YEZERED 1. 00X 418, 342. 00 418, 342
&5 :2
B BMERR QEESZY) 1%y
£ 7 R - BIRTiE BARL 2 B € W E B &
BIEHEE
A 2.00 24, 200. 00 48, 400
cSvy 2tiE
=] 4.50 28, 394. 00 127,773/4.70H / 8H
AN 2KDY%
% 1.00 176, 173.00 1,761
J1)—EH
= 1.00 175, 272.00 175, 272
= g YEZERED 1. 00 353, 206. 00 353, 206




K& -ET/\vr—2

THIFEE R BBREMR)FET.5m(BRIKIREE

%5 :3
B BBETR b 1RHY
% 5 R - AR R B3 = B £ W = B &
REE >4 kN2 2L
=] 1.00 3,067.00 3,067 2.00H / 8H
B S HAm
A 1.00 40, 000. 00 40, 000
B S HAmE
A 1.00 30, 700. 00 30, 700
BIEBF
A 1.00 29, 600. 00 29, 600
A= FRP D 70PSZ!
=] 1.00 71, 262.00 71,262 8H
GNSSRIfI =& DGNSS
=] 1.00 18, 150. 00 18, 150
BEBIEE 45mE  90~230kHz
=] 1.00 20, 625. 00 20, 625
HME EXZNOY)
% 1.00 213, 404. 00 2,134
= g 1YEZHEH - 1.00X 215, 538. 00 215, 538
&5 4
& BEAR FE(-.7.5m (KR) 1HHY (19.9km)
% 5 R - AR R B3 = B £ W = B &
REE >4 kN2 2L
=] 1.00 3,067.00 3,067 2.00H / 8H
A= FRP D 70PSZ!
=] 1.00 71, 262.00 71,262 8H
B S HAm
A 1.00 40, 000. 00 40, 000
B S HAmE
A 1.00 30, 700. 00 30, 700
BIEBF
A 2.00 29, 600. 00 59, 200
GNSSRIfI & DGNSS
=] 1.00 18, 150. 00 18, 150
BEBIEE 45mE  90~230kHz
=] 1.00 20, 625. 00 20, 625
HME EXZNOY)
% 2.00 243, 004. 00 4, 860
= g YEZRES 1 19.90k m 12, 455. 00 247, 864
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&5 :5
2% BERMR REZTIU R 1HHY (19.9km)
£ 7 R - BIRTiE BARL 2 BO(f € W E B &
REE >4 kN2 2L
=] 1.00 3,067.00 3,067 2.00H / 8H
A= FRP D 70PSZ!
=] 1.00 71, 262.00 71,262 8H
B EHER
A 1.00 40, 000. 00 40, 000
B E A
A 1.00 30, 700. 00 30, 700
RIEBF
A 2.00 29, 600. 00 59, 200
GNSSRIfI =& DGNSS
=] 1.00 18, 150. 00 18, 150
BERER 45m®  90~230kHz
=] 1.00 20, 625. 00 20, 625
MAH 2H0%
% 2.00 243, 004. 00 4, 860
= g YEZEREN 1 19.90k m 12, 455. 00 247, 864
&S :6
B FERAE 1HHY (2.4km)
£ 7 R - BIRTiE BARL 2 BO(f € W E B &
REE >4 kN2 2L
=] 1.00 3,067.00 3,067 2.00H / 8H
B EHER
A 1.00 40, 000. 00 40, 000
B E A
A 1.00 30, 700. 00 30, 700
RIEBF
A 1.00 29, 600. 00 29, 600
AN 2H0%
% 1.00 103, 367. 00 1,033
= g YE%HREN : 2.40km 43, 500. 00 104, 400
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THIFEE R BBREMR)FET.5m(BRIKIREE

E&S:7
2% FIRAEEHNEE BEHRERL 10cmHy
£ 7 R - BIRTiE BARL 2 BO(f € W E B &
B EHER
A 1.00 40, 000. 00 40, 000
AN 2H0%
% 1.00 40, 000. 00 400
= B E%8H :10.00cm 4, 040. 00 40, 400
S :8
B MESERK 1K%Y
£ 7 R - BIRTiE BARL 2 BOf € W E B &
RIS EFHEm
A 3.10 45, 700. 00 141, 670
B EHER
A 8.30 40, 000. 00 332, 000
B E A
A 8.30 30, 700. 00 254, 810
RIEBF
A 5.10 29, 600. 00 150, 960
AN 2H0%
% 1.00 879, 440. 00 8, 794
= g YEZERED 1. 00 888, 234. 00 888, 234
=)
B EBBRR 1%y
£ 7 R - BIRTiE BARL 2 BO(f € W E B &
EBHRRE
= 1.00 59, 000. 00 59, 000
= it YEZERED 1. 00 59, 000. 00 59, 000




RIER-TEI/\vr— SHNSEFE R (R ) R B (- 7.5m) (B B)/K BRI &

5:10
& RkE ® (1)
2 Lo R - KT B B = B M ol | W E B &
&
= 1.00 279, 185. 00 279,185
& B 1EZBER - 1.00 279, 185. 00 279,185
&H#5: 1
B BIEEREE T4 UJREER 1TfELY
2 Lo R - BAK~TiE B B = B M ol | W E B &
BIREE
I 1.00 36, 400. 00 36, 400
& it 1E%HED - 1.00TFE 36, 400. 00 36, 400




